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3HQHOLWDLDQ� LQL� GLODWDU� EHODNDQJL� ROHK� SHUOLQGXQJDQ� GDQ� KDN�KDN� \DQJ� KDUXV
GLEHULNDQ�ROHK��SHUHPSXDQ�SHNHUMD�63%8�GL�.RWD�3DGDQJ��3HQHOLWLDQ�LQL�EHUWXMXDQ
XQWXN PHQGLVNULSVLNDQ�SHUOLQGXQJDQ�SHUHPSXDQ�SHNHUMD�6WDVLXQ�3HQJLVLDQ�%DKDQ
%DNDU�8PXP��63%8��GL�.RWD�3DGDQJ��XSD\D�XSD\D�DSDNDK�\DQJ�GDSDW�GLODNXNDQ
GDODP�PHPEHULNDQ�SHUOLQGXQJDQ�SHUHPSXDQ�SHNHUMD�6WDVLXQ�3HQJLVLDQ�%DKDQ�

0HWRGH� SHQHOLWLDQ� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWDLDQ� LQL� DGDODK� NXDOLWDWLI
GHQJDQ� SHQGHNDWDQ� GHVNULSWLI�� GDWD� GLGDSDW� GDUL� GDWD� SULPHU� GDQ� GDWD� VHNXQGHU
GHQJDQ� WHNQLN� REVHUYDVL�� ZDZDQFDUD�� GDQ� GRNXPHQWDVL�� VHUWD� ZDZDQFDUD
PHQGDODP�GHQJDQ�LQIRUPDQ�SHQHOLWL�

+DVLO� SHQHOLWLDQ� LQL� PHQXQMXNDQ� EDKZD� SHUOLQGXQJDQ� SHUHPSXDQ� SHNHUMD
6WDVLXQ�3HQJLVLDQ�%DKDQ�%DNDU�8PXP��63%8��.RWD�SDGDQJ�GHQJDQ�PHPEHULNDQ
SHUOLQGXQJDQ� MDPLQDQ� NHVHKDWDQ�� NHVHODPDWDQ� NHUMD�� GDQ� MDPLQDQ� VRVLDO� VHUWD
PHPEHULNDQ� KDN�KDN� SHUHPSXDQ� SHNHUMD� PHVNLSXQ� WHUGDSDW� KDN�KDN� SHNHUMD
SHUHPSXDQ� \DQJ� WLGDN� WHUSHQXKL��8SD\D�XSD\D� \DQJ� GLODNXNDQ� XQWXN�PHOLQGXJL
SHUHPSXDQ� SHNHUMD� \DLWX� GHQJDQ� DGDQ\D� SHQMDJD� NHDPDQDQ�� MDPLQDQ� DVXUDQVL�
SHQHJDNDQ� DWXUDQ�� .HVLPSXODQ� SHUOLQGXQJDQ� SHUHPSXDQ� SHNHUMD� 6WDVLXQ
3HQJLVLDQ�%DKDQ�%DNDU�8PXP PDVLK EHOXP�PDNVLPDO�NDUHQD�NXUDQJ�NHVDGDUDQ
DQWDUD�SLKDN�\DQJ�EHUVDQJNXWDQ�
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